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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Choose the correct answer of the following :
1x10=10
were frPTEd W% el i Tfered :

(@ IfA={2 4}andB={2 3, 4,5}, then find
M A=(2 4} IF B={2,34,5 A, (C
Tferear
i A>B
(i) AUB
(i) Ac B
(iv) AnB
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(b)

(c)

(d)

20A/576

(2)

Y=0b% is afan

Y = b? txem <

(i) constant function
ER T (9 o)

(i) polynomial function
2o T

(i) singular function
G Fore

(iv) exponential function

AR T

If lim +=0, then lim (_n_ilJ is

n—=ce 1} n —oo

n
n]ﬂloo n S r}l_inw T) E?CQ
) O
(i) 1
(ifi) oo
(iv) n

If Y=f(x)=b, then lim is
x— M

MY = f(x) = b, (503 lim Carm
i b x— M

(i) M

(ifi) oo

fiv) b/ M

( Continued )

(e)

(3)

An example of discontinuous function is

s Toime «@ft Turzsa 2R

(i) rectangular hyperbolic function

AR H(SIS T

(i) quadratic function

fage T

(iti) cubic function

faare Fem

(iv) polynomial function
ol e

Differentiation of capital w.r.t. time is

TH TS A S| FCE (ARl A

(i) gross capital
T T

(i) marginal capital
GICIRI T

(iii) investment
R

(iv) time path
TES 7Y
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(2) (3)

() Y =p2 is a/an fe)} An example of discontinuous function is

Y =b? {zrz @ fRifvze Fora @ Trrzge tagm
(9 constant function (i) rectangular hyperbolic function
E T (7 o) RO Sfege T
(i) polynomial function R ) .
= Form (i) quadratic function
e 2 fagrs o
(i) singular function
Gl T (iij) cubic function
(iv) exponential function - fore e
(iv) polynomial function
2ol wem

(eI TP Tign s hs ity
Ryt 0, then nhi!}» TJ i
<

(1 Differentiation of capital w.r.t. time is

T lim * =0, corg 1im(_”__1J tos
R L AT T BRI S RG] T

M) 0 |

(@ 1 (i) gross capital

(ifi) oo T

Be) (i) marginal capital

(d) IfY = f(x)=b, then lim is AR kL
x— M

Y = f(x) = b, cozm lim Czgs (iii) investment

() b i fficar

(.ii) b (iv) time path

[Il.l') oo ™

(iv) b/ M
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RN
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(9

)
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(4)

The direction of y-= f(x) can be
measured by :

Y = f(93 et Pt sfRe o1
0 %

(i -Z—:g

(i) 32

(iv) dx

The tallest student nl Svour | class
represents

W@%W\ngw

(i) global maximum

CATETR IS oy

(i) relative maximum

SRS IR T

(i) absolute maximum

e o T

(tv) both global and absolute maximum

CTR B s oty T

( Continued )

(i)

G

20A/576

(5)

d?y

For maximization of Y =f(x), ]

should be

d2
Y = f(x)3 SHifRFeR I, qu’awﬁa

(i) zero
I

(ii) negative
RRIEEE

(i) positive
SRR

dy
(iv) double the value of o

Y 7w 78
dx

{5 dx is equal to
2 £(x) e

() [} -ro)dx

(@) [0 20 dx

(i) 2[] f() dx

(iv) 2, - fl) dx
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(6)

2.
Answer the following questions - 2x5=10
- x =
O PRI Teq fargy
(@) State ordered and unordered i
pairs

(b)

(c)

(d)

(e)

20A/576

with an example.

R (S) S e
W%W,wqﬁq@ﬁm(l Pl

Define quasi-convex.

WWW\’@TW|

State why for minimization of a function

the second-orde
r conditi
positive. dition should be

MWWW S &ﬁ(
CIEEF 2°] =151 2 o fRfERS

: d 2
Find %Y fo Al loge
T

dyﬁ 10 2
—= Fq y=-CE¢€
5, Ry = —

Why do
4 r}; Whi;ve- need to adqd one constant
€ integrating g function? B

0T T Seppete
GHGTWE{K%T? meﬁ‘ﬂﬁlm

( Continued )

(7))

3. Answer any four from the following

questions : : 5x4=20

o oppTed il e Do T ferd

(a) Distinguish between implicit function
and explicit function. Map the following

function : 3+2=5

XY =a

(b) Define continuity of a function. State
why a function must be continuous for
it to be conformable for differentiation. 5

I Rlcsac | S CIR A S
SR A b1 T R qEEEe 29 e,
o=

(c) 1If TR = PQ, where P and Q are price and
quantity respectively, then show that

AR
eq =———s 5
AR - MR

4 TR=PQ, TS P WA P OF Q (AR
SR, (903 (TS &,
AR
edz_—_.
AR - MR
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(8)

(d) GiVen the
function,
function .

fOHQWin

fine theg average cost

marginal cost

fe) MentiOn the

i dhy
1S the Teverse prq tatement, “Integration
€€ss of differentiation.”

2+3
ﬁf‘?ﬂ]l”w L:;g?fﬁtmw G(iﬂ'lm

=h

the € necegs;
con demangq cu CSSity of integrating
sumer»s i ; rve for ﬁndlng out

m%ﬁ Uus,
g

20A/576

( conrinu‘"d

i ENSesseRmmese o0

(9)

4. Answer any four from the following

questions :

oo 2T R Il BIfRBR TSR forsd :

(@)

(b)

20A/576

For a function Y =logx, prove that
G = Also find the limit of the

dx  x

function :
. x2-25
lim

x—0 x2 + x-30

A et o, N AW A =,
dc x

Foi® ©o T limit T AT 41 :
; %2 =25
x=0 x* +x-30

If the production function
0=40L +3L% -1L°

where L is the employment of labour,
find the size of labour to give maximum
output. Also show that if demand curve
is linear, marginal revenue is half of

average revenue at output g. 5+5=10

s T T @=40L +3L% - 115,
L tare wfie PERER oA | S e
o i R e e 29, fof w9
saice (rqeaT @, At DR (391 R A A
et =, (o8 AR R (R T S W
T AR AREE (R g.
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(c)

(d)

20A/576

(10 )

Given the demand function p = (10 - %"
and the cost

functig = -8x”.
Find the maxj s

be th MUm profit. What would
:? e effect of an imposition of a taX
OI'¥ 9 per unit on price?

O e P=o-x2 o zx =@
C=55x_g,2 W@ N

e fay <1 |
Wﬁ%ﬂwmﬁa@m?gaﬁﬁ@ﬁﬂ
Qq,mmem%mﬁﬁa?

Show that €ven after
lump Sum tgx
conditipn

imposition ©f
and profit tax equilibrium

of market iy remain th¢

demancl function 19
1+3P, +0.2y, then find
Clasticity and incom®

s W €re Y =500 and B, =2
REC

80 2P 5p, 40.2Y
%m% 1+3P,

10

1
( Conﬁrﬂl?(

20A/576

S

(i)

(ii)

(11 )

tion is
inal revenue func
The e MR=50-40Q. Find the
¥ f demand when
5+5=10

given 5

point elasticity ©
= 10;

Qﬁ@g oqRE T (R MR:SO”?Q_QT'

s R Rfrwe i w9, af

Q:lo

The total cost of azﬁrntx is given b3;
C:5000—15q+5q . Find the leve
of output at wh.ich the slope of
the average cost 1s Z€ro. )
a4 TR §p 4 C =5000-15g+5g~.
R RFIE HEAS T O
@TeE O P R4 ?

ytai r’s surplus of the
g;ia;?ngozzirzid function, given
the market price .

3+7=10
when price = 16. a )
IUEE| wif2nr T {1 BTSSR o L
]

9
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(12

(g) If the marginal revenue function for

output x is given by MR=__© +5,
(x+2)2

find the total révenue function and

the demand function. 10

a8 SR e SR 3@
6
MR = L
T ik P W W o o
Ay =11

(h) For the following

: Production function
Q=aL® +pL?

10
+bL2 4 of, +dd
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